@ o—@

9

yee RDT/ QUESTION BOOKLET

B

FGaERl # Y| PI FE@IT/ Number of Pages in Booklet : 16

tlii?ﬂil 4wl o W/Numhcr of Questions in Booklet : 100

rafer / Duration : 2.00 H2 / Hours

Jj“ﬁm/ Maximum Marks : 100

130B [

Question Booklet Number

1302144347

INSTRUCTIONS
1.

Please correctly fill your Roll Number in O.M.R. Sheet.
Candidate will himself be responsible for filling wrong Roll No.

2. At the stad of the examination, before attempting the
question paper kindly check your test booklet and O.M.R.
Answer Sheet and ensure that:

*  The serial numbers of test booklet and O.M.R. answer sheet
are same.

* Al pages of test booklet and O.M.R. answer sheet are
properly printed. All questions from S. No. 1 to last S. No. 100
are printed and pages from S. No. 1 to last S. No. 16 are there
in the question booklet. .

In case of any discrepancy/defect the candidate should
immediately report the matter to the invigilator for replacement of
test booklet and O.M.R answer sheet. No claim/objection in this
regard will be entertained after five minutes of start of examination.

Candidate will be liable for it.

3. Answer all questions.

4.  All questicns carry equal marks. ,

5. Only one answer is to be given for each question.

6. If more than one answers are marked, it would be treated as
wrong answer.

7. Negative marking is applied, one third (1/3) of the marks
allotted to the question will be deducted for every wrong
answer. Wrong answer shall mean an incorrect answer or

multiple answers..
8. Each question has four alternative responses marked serially

as (A), (B), (C), (D). Candidate has to darken only one circle
or bubble indicating the correct answer on the Answer Sheet
using BLUE BALL POINT PEN.

9. Use of Mobile Phone/ Bluetooth Devices or any other
electronic gadget in the examination hall is strictly prohibited.
If any such prohibited material is found with any candidate,
strict action will be taken by the Board against him/her as per
rule.

10. If there is any sort of ambiguity/mistake either of printing or
factual nature in Hindi and English version of the question,’
the English version will be treated as standard.

Warrning : if a candidate is found copying or if any unauthorized
material is found in his/her possession, F.LR. would be lodged
against him/her in the Police Station and he/she would be liable to
be prosecuted under Section 3 of the State Prevention of Unfair
Means Act, 1992 and Board Regulations. Board may also debar
him/her permanently from all future examinations of the Board.
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Two numbers ‘A’ and ‘B’ are such that the sum
of 5% of A and 10% of B is half of the sum of
20% of A and 10% of B. Find A:B.

(A) 2:1 (B) 1:2

(€C) 1:3 (D) 1:1

A and B started a business jointly. A's
investment was thrice the investment of B and
the period of his investment was two times the
period of investment of B. If B received ¥ 4000
as profit, then their total profit is -

(A) T 28,000 (B) X 16,000

(C) T 24,000 (D) ¥ 20,000 .

If the difference between % part and f part of a
number is 4, what is the number?
(A) ap (B) 60

(€) 100 (D) 80

In the given figure, ABCD is
quadrilateral whose side AB is a diameter of
the circle through A, B, Cand D. If ZADC = 130°,

then find ZCAB.

a cyclic

130° ¢
D
B
A (6]
(A) 30° (B) 130°
(C) 50° (D) 40°

The ratio of two numbers is 3:4 and their sum
is 420. The greater of the two numbers is -

(A) 240 (B) 200

(C) 360 (D) 180

The distance of Rajeev’s college and his home
is 80 km. One day he was late by 1 hour than
the normal time to leave for the college, so he
increased his speed by 4 km/hr and thus he
reached to college at the normal time. What is
the changed (or increased) speed of Rajeev?
(A) 40 km/hr (B) 20 km/hr

(C) 28 km/hr (D) 30 km/hr
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@ gt A s e & f A B 5% IR
@ 100 @1 AT A B 20% IR B D 10% B AW
@1 3 & | AB ETA BN |

(A) 221 - (B) 1:2

(€) 13 (D) 111

A SR B A T wU A UE @rawrd R )
A @ fdw B @ Faw &1 & T o1 SR Fad
fraw @ srafy g @ Faw a1 e@fa B g
off| af2 8 @ @™ @ wY H 40002 T €Y,
IAHT T A E -

(A) 28,0003 (B) 16,000F

(€) 24,000% (D) 20,000

afy e wwen @ 2 3R = T BT AR
a @, o wvan g @7

(A) 40 (B) 60
() 100 (D) 80
& wd anpfa B ABCO UH a@ll AP @

R i1 AB A B C 3¥ D ¥ E1@R W a1
g @1 @ 2| f ZADC = 130° €, T £CAB
s B —

130° ¢
oK,
D 28
A 5 B
(A) 30° (B) 130°
(C) s0° (D) ap°

&1 TS BT ST 34 R IR FABT AT 420

\_i:?ﬁ] TRt ¥ A 9l | € —
240 (B) 200

(C) 360 (D) 180

wofla @ aids ok v @ g so frah @)
@ fos1 ag wiera, o @ faw wmmn g 9
19e o un gufery Sud s Wfy 4 el
/uel q@l @) R a8 WM W W ered
ugdl | Wi B uRafda (@ ad) gd) 7 @
&

(A) a0 1 /vien
(C) 28 f5 /wien

(B) 20 ¥ /uer
(D) 30 f.sf), /¥ier



The number nearest to -
of 25, 50 and 75 is - 1958 divisiole bysach %
(A) 43600 (B) 43500
(C) 43550 (D) 43650
B jfa=11andb=9,then the value of [L;"“_ﬂr] 8.
is - .
(A L (B) !
20 2
(C) 20 (D) 2
9. To gain 25% after allowing a discount of 10%, 9
the shopkeeper must mark the price of the
article which costs him ¥ 360 as -
(A) T 450 (B) T 486
(C) T 460 (D) T 500
10.  Average of the 1*' ten odd prime numbers, is - 10.
(A) 13.8 (B) 12.9
(C) 15.8 (D) 17
1. Mohan is twice as old as his brother. 3 years 11
ago, Mohan's age was 3 times his brothers age.
Calculate Mohan's present age.
(A) 6 (B) 14
(€ 12 (D) 16
12. |fthe simple interest on a certain sum of money 12.
after (:% years is 3/8 of the principal, then the
rate of interest per annum is - ’
(A) 8% (B) 4%
(C) 5% (D) 6%
13, |f two angles of a triangle are cot 12 and cot’3, 1%
then its third angle is - .
(A) Sn B .
T 2 s
©rn (D) 31
4 ]
18, 'p’ can do a piece of work in 24 days. s 1
60% more efficient than ‘A’, then the number
of days required by ‘8’ to do the same piece of
work is -
(A) 12 (B) 9.6
(©) 15 (0) 10
15. | a AABC, if 2ZA = 348 = 6£C, then ZAis 15
equal to -
(A) 30° (B) 90°
(€) 60° (D) 120°
130-B @ Page 3 of 16

43§azaﬁﬁ‘m TH T G 25, 50 3R 75 H A
gaad I fvioa € —

(A) 43600 (B) 43500
(C) 43550 (D) 43650

af2 a=1130R b=9 & @ [i-’—f”—"’] 1 WA

? a!_b'!
(A L (B) 1

20 2
(€ 20 (D) 2

10%21‘»1@%#% qG 25% &1 APT WG WA
@ fag, derer @ 3602 @rrd arell avg @
g fan sifba awn wfke?

(A) 4503 (B) 4863

(C) 460 % (D) 500X

wor @ faum apon we@masd @1 aftad @ -
(A) 13.8 (B) 12.9

(C) 15.8 (D) 17

st o Wi R & aer #) 3 9 uEd,
g A g Sws wsAr B oY B3 W
off | #rget @) adurE Ay A ACET @R

(A) 6 (B) 14

(© 12 (D) 16

afy v Pfaa aft W 6; @i F FURT @A
S EA @ 38T B, i aiftw @t B
wE -

(A) 8% (B) 4%

(C) 5% (D) 6%

afy @ Be[t @ @ BT cot 2 TAT cot '3, T
gad SRR B g - '

(A) 5 ®Z
6 2

©= (D) 3m
4 F;

A TE TRl @ 24 R A W wwen &) Rk 8
A 60% ARG HIA 2, W B B AAA @
B @ fow smavas 391 & wen & -

(A) 12 9 (B) 9.6 »

(C) 15 (D) 10 »

UFH AABC W, Tfd 2£A=3/B=62C B, @ ZA
WA & —
(A) 30°
(©) 60°

(B) 9p°
(D) 120°

Answer Key Click Here



16. wmﬁhwﬁmfﬁ@ﬁﬂﬂfﬁﬁ?m,m%
s ol 2 B, TEE — :
A) s ; ; (A) Teper famenae AT
it (&) et s
(C) e Siffshar
(D) R—frem sifdfdar |
17, g s, A (UV) TR SR T @
3 fPreforfad woHl o) fER &Y —
(1) ga T P TTRE, T B o i

The reaction between an acid and a base t0
give salt and water is -

(C) combination reaction
(D) Double Displacement reaction

Consider the following statements about =
visible light, UV light and X-rays - _
(1) The wavelength of visible light is more than

that of X-rays. i 1
(l) The energy of X-ray photons is higher than (1) TEF— BIe Hﬁ B;Ui.i.gﬁ:%ﬁ% (UV) s
that of UV light photons. I B geii A st '

() T (UV) TTE BICIH 1 Foll, 539 N
BIe @Y o § B9 8kl & |
FwR Ry v weFEl § W BE-a/A a9l

(1) The energy of UV light photons is less than
that of visible light photons.
Which of the statement(s) given above is/are

1302144347 1302144347

correct? -4
(A) (i) and (i) (B) Only (1) (A) ()3 (i) (B) &ad (1)
(©) (1) and (11) (@) (1), (11) and (il1) (©) ()3 () (B) (1), (1) 3= (i)
8. Which of the following is the smallest bone in < 18- fFrefoRaa & @ ®R 99a TR @ 9w
the human body? BIC B9 27
(A) Malleus (B) Incus [roen (A) #ferax (B) s=p
(C) Stapes (D) Vomer ;:% (©) wirs (D) am R
19. A nautical mile is equal to - gw, U& WsT HeT axmeR gar & —
(A) 1672 metres (B) 1852 metres ; (A) 1672 Hiiex (B) 1852 Hiex
(C) 2450 metres (D) 2000 metres % (C) 2450 ¥rex (D) 2000 #Hiex
20. |n which of the following pairs are the «—20. fy=foiRaa ¥ A frg ¥ ¥ INEHIgaaeiD
Isoelectronic ions? , AR B?
(&) Mg?*, Ar (B) K*, Ne % (A) mg?+, Ar (B) K*, Ne
(C) AB*, CI (D) Na*,0% C:«',T'-j (C) AR+, CI (D) Na*,0% )
21.  Clove, the commonly used spice, is obtained :—;r_Zi. ANT, ST IMTAR 9Y SRS fsar S areT
from the - %‘ waTenl €, fewast v far s 87
(A) stem (B) Root L W (B) v e
(©) Flower bud (D) Fruit (©) T @ Bl (D) e
22.  Who invented the safety lamp? 22. QAU FT BT AR e fbar o
(8) Maxwell (B) Humphry Davy (R) Naaet (B) EwpY S
(C) Faraday (D) Alfred Nohe| (C) B (D) 3o Araa
130-B @ Page 4 of 16
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23. Match List-1 with List-1l and select the correct

24.

25,

26.

130-8

answer using the code given beloy, —
List-l List-nt
(a) Acceleration (i) Joule
(b) Force (i) Newton-second
(c) Work done (iii) Newton
(d) Impulse (iv) Metre per second?
Code -

(A) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
(B) (a)-{i), (b)-(i), (¢)-(iii), (d)-(iv)
(©) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)
(B) (@)-(v), (b)), (c)-{i), (d)-(i
A plane glass slab is kept over colored letters,

the letter which appears least raised is -

(A) Red (B) Blue

(C) Green (D) voilet

A plant which has green leaves, when placed in
red light will appear -
(A) Black (B) Red
(C) Violet (D) Green
Match the following columns —
Column-|
(a) Smoke
(b) Gel
(c) Emulsion
{d) Foam
Column-il
(i) Dispersion of gas in liquid
(i) Dispersion of solid in solid
(iii) Dispersion of liquid in liquid
(iv) Dispersion of liquid in solid
(v) Dispersion of solid in gas
Code -
(A) (a)-(v), (b)-{iv), (c)-tiii), (d)-(i)
®) (a)-(v), (b)-(ii), (c)-(i), (d)-{iii)
(©) (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i)
(®) (a)-(ii), (b)-(iv), (e)-{i), (d)-(v)

1302144347 1302144347 1302144347
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o
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faT 7Y BT &1 AT B A IR gAY —

- AN
() EROT (i) 5T
(b) @t (i) JeT—Hs
(c) Feaar ram ®rd (i) geA
(d) maT " (iv) HieR ufa 9 aes
a:’c_\a —

(A) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)

(B) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)

(€) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

(B) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii) o
@M TR R, S R ¥aw $W 9eT g fewn
AWM, TR —

(A) <ITet (B) =fremm
(C) &1 (D) =it
e e el &8 ot 8, 9 orer a<i A
T W fewrd ¢l —

(A) et (B) <Iret
© & (D) &1
- = gfeat @ yafera @l —
A '
(a) it '

(b) et

(c) HRTT

(d) T

- XgE—N

(i) =@ & gRféra i
(i) 37 & R o
(i) &g ® uRfdra ga
(iv) o # uRfer ga
(v) 7 ¥ uRfdrg =
Efz\?_

(A) (a)-(v), (b)-{iv), (c)-(iii), (d)-(i)
(B) (a)-(v), (b)-ii, (e)-(i), (d)-(iii)
(©) (a)-(iv), (b)-ii), (c)-(iii), (d)-(i)
() (a)-(ii), (b)-(iv), (c)-{i), (d)-(v)

Answer Key Click Here



27.

28.

29.

30.

31.

32.

33.

34.

35.

130-8 @

The cause of sweet taste in fruits is-

(A) Fructose (B) Lactose

(C) Maltose (D) Ribose

If the position of an object in concave mirror is
at infinity, then the image formed is -

(A) real, inverted, equal to object

(B) real, inverted, diminished

(C) virtual, erect, enlarged

(D) virtual, erect, diminished

Which is not correctly matched?

(A) Barometer — Air pressure

(B) Ammeter — Electric current

(C) Pyrometer — Amount of rainfall

(D) Anemometer — Wind speed

The chief raw material used for manufacturing
Rayon is -

(A) cellulose (B) Silicon

(C) Nylon (D) Radium and Argon
Where has the foundation stone of Rajasthan's
first Ayurvedic Medical Center, Health and
Wellness Center been laid?

(A) Karanpur (B) Khimsar

(C) Khamnor (D) Kotra

In which city was the National Co-operative
Spices Fair, 2022 organized?

(A) Alwar (B) Dholpur

(C) Jaipur (D) Chittorgarh
Rajasthan's rank in the Fourth State Food
Safety Index (SFSI) of the Food Safety and
Standards Authority of India (FSSAI) released in

" June 2022 is -

(A) Twelfth (B):Nineth

(C) Fourth (D) Terith

Where has the DRDO successfully test-fireq

Helina, Anti-Tank Guided Missile, in April 20227

(A) Pokhran (B) Kolayat

(C) Osian (D) Gajner

Which body of Rajasthan was conferred with

IBC Excellence Award, 2021 in April 2022?

(A) Rajasthan Urja Vikas Nigam Ltd.

(B) Rajasthan Medical Services Corporation

(C) Rajasthan Housing Board

(D) Rajasthan Tourism Development
CorporationLtd.

27.

28.

29.

30.

3.

32.

33.

34.

35.
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el W e & R B —

(A) waers (B) siaeia

(C) e (D) TEarS

Ife amaaer guvr # Al awg @ Reaf aFa
W R, 1 a9+ aren wfafdre & - 0

() Irsifaes, Jeer, 9% & aRTER

(B) arxifaes, Seel, 9¥g W BIET

(C) s, e, smafela

(D) sy, e, 9% A BIET

HIF—a1 WEl gAferd el 87 '-""f
(A) RMeR — g™ ' :
(B) yrier — fagd arr

(Q) URRYIeR — Fut @1 A=
(D) TR — a1y @ A
4t @ fafor # srgeh 8 aren g S A

g - : < -
(A) Jegeira ~ (B) faferei=
(C) ArTelta (D) T 3R = =

IR & Uge angdfed ffeear dE, we
Ue domg dex o1 R & = w®
forar Tar 87

(A) BRI (B) Rawez

(C) @R (D) @rext

MR FEHR! FATAT Hell, 2022 BT AT
. fora wrer # o e

(A) 3R (B) diegr

() TR (D) fFrdreTe

S 2022 # SN AR w@rEl GRen SR AE
TRIEROT (FSSAN B Wl vvu w@re gRen
DI (SFSI) H TR BT I & —

(R) arexar (B) et

(C) e (D) =wat

el 2022 %, DRDO Y & Af PR frarset
BRI, &1 A% weror FEf fpgr 27

(A) TTERo] (B) Premag

(€) anfRram (D) TR A
S & v Frm &) snd i gaio
37aTe, 2021 W 3T 2022 § ARG Rar TAT?
(A) IR STt ey B fafies

(B) o™ FRaifsear Jar fpm

(C) ISTRAT AT Hea

(D) RISTRIT U4 iRy frry fyfes

—— =

Answer Key Click Here



- Rajas.t han Tuo l:;”sm.oepa_rt ment organized 'Folk  36. RreReN YA AT 3 fbw wvere @ WEATT
safar' in collaboration with which institute? 3 'BiF GHEE DT g fear?
AN B) 1M (A) B (B) STETATHR ME
(C)VUNICEF (D) ASEAN ©) ‘If;"'—‘}'q? (D) s .
7. In which district of Rajasthan is Garhmora, the ~ 37. o @ frd forel ¥ Yo AREAT @1 AR
city of Raja Mordhwaj in which recent| :
y the AT £ R R TRER k|
Rajasthan government has issued a financial - s A e
sapction for development work ang e we @ fAem 1 3N Y@@
maintenance of historical sites? @ forg facha o wr) @ a7
(A) Bundi (B) Karauli ®) 5@ (B) el
(C) Udaipur (D) Ajmer (©) AR (D) SR
3. Thar Mahotsav 2022’ was organized in which 3. aﬂ—;ﬁ?ﬂa 2022 BT 3T RToTeer @ fad
district of Rajasthan? ; RN fear W .
(A) Jaisalmer (B) Barmer (A) SR /(ﬁ)/a'rgfr(
(C) Jaipur (D) Bikaner (C) SR, (D) TR
9. Who e-inaugurated the first virtual court of 39 XTGRI @) WA g3l B HT §—SgHIe
Rajasthan? : . oo foran? -
(A) s. . Shinde (B) Tikaram Jully (A) . . Rig (B) SR et »
(C) Ashok Gehlot (D) vasundhara Raje (C) areia MBI (D) TGERT I
10. Ghazi Khan Barna was presented the Sangeet ~ 40- TToil @ ¥l Pl b AT D 931 # S D
Natak Akademi Award by Vice President Shri. ArTe @ foft ST a8 . dhar T
M. Venkaiah Naidu for his contribution in the ERT T AlCd ST'EFIGﬁ IR¥PR e fdar
field of folk music, he is related to which T, qE fbq o I3 9@ wﬁ.a a7
instrument? : . (A) O (B) sy
(A) Sarangi (B) Bhapang (C) Ryar (ECERI]
(C) Sitar (D) Khartal _ ‘
4. Which of the following folk deities helped Rao 4. ﬁ‘ﬂﬁﬂ'@ﬁm‘; 3 fopa Sgar A ;—;r ST BT HeR
Jodha in conquering Mandore? ' Aa ST o - R (B{) gty
(A) Hadbu ji (B) Mehaji Mangalia EC; ¥59 " i 5 ; Gﬁl 'j'“
© malinathji ) oI ot 42 P 3 @ e g e B w ih
42, - . layed with which 0 ’ ) : fo:14
ey o o &
" arell - (B)
(A) Terah Tali (B) Ghoomar A WE () g
: : 43. # 3 S @1 Al fhae EECIE]
8. Raniji Ki Baori in Bundi was bulult by - ' g < ; BRI R
(&) Rani Nathavati  (B) Rani Karnava® 0 T e (B) XY wortach
() Hadi Rani (D) Rani Padmini ) (C) &) RN (D) I+ Ul
in the 4% 25 w1, 1948 BT WYH WORAH F fery
% The Princely State that was mergéfd n T4 R R @ _
United Rajasthan on March 25, 1948s -
g (A) RayR (B) 3rotav
¥ Wramtpur i By ST (0) RRY
(©) Pratapgarh (D) Sirohi '
130-B @ Page 7 of 16
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47.

48.

45. In which ruler’s reign did the art of ‘Meenakari’

in Jaipur come?

(A) Man Singh-I (B) Bharmal

(C) sawai Jai Singh—Il (D) Sawai Jai Singh-1

46.  When did.R jasthan Human Rights Commission

came into existence?

(A) 10" g}cember, (B) 2" Qctober, 1990
1998

(C) 26" Jangary, 1995 (D) 18t January, 1999

Arrange the~following victories of Alauddin

Khilji chron6Ydgically-

(1) Siwana

(2) Jalore

(3) Chittor

(4) Rantho ore

(A) 2,3,4, 1) (B) 4,3,1,2

(€) 1,2,3, @r‘ (D) 4,2,1,3

As per 20I%—census, which of the following

district paird<jd show the density below 100 in
Rajasthan?¢n)

(A) Barmer,*Pali, Bikaner

(B) Jaisalmer, Bikaner, Barmer

(C) Bikaner, Ganganagar, Barmer

(D) JaisalmgrChuru, Bikaner

Which of tlg#Xfollowing statement is incorrect
about the mbal Basin?

(A) Chambatkbasin has vast ravines.

(8) Chamb%:riginates from Janapav hills in

Mhow ctBhsil near Indore in Madhya
Pradesh™ '

(C) Vindhyan scarplands are not associated
with Chémbal basin.

(D) In the sgyth of Chambal basin, there are
low hill&hich are called ‘Dang’.

0. Which onefgf the following (thermal power

project — di€tdict) is not matched correctly?

(A) Kapurdighd Jalipa — Barmer

(B) Kawai—Baran

(€) Kali Sindh — Jhalawar

(D) Giral — Bikaner

51. In which district of Rajasthan is Ojhiyana

archaeological site located?

(A) Bhilwara (B) Hanumangarh

(C) Tonk (D) Udaipur

49,
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46.

47.

48.

49,

50.

51.

SR # AR @ @ uwE @
YTIAET H SMRAT?

(A) ArReE—! « (B) 9R#el-

(C) warg srafRig—n (D) warE, Srakie—|
IR HFETRBR 3T &d ARk | amar?

(A) 10 fawier, 1998
(C) 26 WIFTa1, 1995

(B) 2 Jgay, 1990
(D) 18 I=Tasl, 1999

gemee  faemh @1 freifea faoal @

BIAHHMIR AR BIFAT —

(ORGEII

(2) Wi b

(3) fercire .

(4) RoRMR .

(A) 2,3,4,1 (B) 4,.3,1,2

(€)1,2,3,4 D) 4,21,3

2011 @ TTIVAT B AGER, IORAA

frfafaa § @ fow e & SIS 3 99 100

W B feamar?

(A) IR, TTelt, PR -

(B) SrIoPR, fiBTR, IR

(C) PR, TR, qreHx-

(D) SRR, T, 9P

fFrafafad & 4 a9 w1 doe g9a IRE @

R H TAd 87 ‘

(A) wiget 9 ¥ faeme wifeai €

(B) 99t BT S W WY ¥ $ER & g
giagﬁaﬁmmﬁqgﬁﬁﬁgﬁm
|r

(°>§§gwmmm@m
‘ l

O) gae IR & <o § N ymifvai &
fore i wer wmar ¥ - '

(cm TR~ i
f'“f“fﬁ‘*ff@ﬁm ﬁfﬂgﬁ forem ¥ &
(A) RSN v AT - qrei

(B) 93 — qRi
(©) el R — zrremaTe
(D) R — frarR

ngmwm%mmﬁM'

(5) ﬂfham'

(B) wprs
(C) Ti®

(D)B‘cmgq.
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h of the following oilseed crop js not 52 fyefafaa # @ e faaen @ wad

1302144347

1302144347 1302144347

1302144347

§ whic
;: * itivated in Rajasthan during the khari o A @8E @ e A wmd A s
::, 5e;;s('m? 37 —
E (A) Soybean (B) Sesame (A) wirardia (8) fa.
E (¢) Mustard (D) Groundnut (C) e (D) Frroe]
r g 'Marwar Lok Parishad” was established in the  53. wrearz @vs uftug @1 wE @74 ?;'3 ofi?
j :::;935 (B) 104 (A) 1935 1 (B) 1941 A
L) 1932 (D) 1938 (€) 1932 A (D) 1938 7
; 1. According to the Vikram Samvat Calender, on  54. famm wraq wang & 3T, dheran sl 134
i which day the Sheetala Ashtami is celebrated? fa mord e 82
£ (A) Chaitra Krishna Ashtami (A) &= el
E (B) Ashwin Krishna Ashtami EE (B) aiftTr o el
(C) Falgun Shukla Ashtami = (C) WA pEe )
l (D) Chaitra Shukla Ashtami RERICE! ey
f 5. |n which area was the identity of Allah - Jilai - 55, et — frard — ar§ N uEar fare & A
e n
{A) Havelli singing (B) Langa singing
(€) Manganiyar folk (D) Maand singing _(A) gaeh M (1w
song (C) nmftrar s W (PF w8 MU
5. Which of the following is not related to the 56 fy=afafan & @ @ TorE @1E e U
development of Rajasthan folk art and culture? wepfa @ R | wafa 78 &7
(A) Shankar Deo  (B) Ramlal Mathur (4) e da gwre (B) IS YT
Dhakal (C) wwd FroTd (D) ZdaTs W
(C) Komal Kothari (D) Devilal Samar
7. Which one of the following pair (Fair-place) is 57. Py=fafun § | @ I ((a-w=E) T*%ﬂ
not matched correctly? ad 27
(A) parshuram Mahadev fair - Revasa .('{)'-IWJWI oY W ~ Y9
(B) Badshah fair — Beawar (B) wrwymg Wl — @R
(C) Laldas ji fair - Dhauli Dub (C) wraer oh &1 Hen — e g3
(D) Mata Kundalini fair — Rashmi (0) s aaferdt & Aen — IR
. sangeet Raj, Sangeet Mimansa and suda 38 il v wfla WaRn tmo s owEa B
Prabandh was written by - VAIER o —
(A) Maharana Mokal  (B) Kanha Vyas (A) sERn HFA (B) @y @
(C) Maharana Kumbha (D) Rana Sanga U HERTEN W0 (D) 1o @
% Longitudinal dunes are found in which districts 99 _'_'_d_"_'_i[ﬂdhjﬂd wu R @ e e g
of Rajasthan? fivery @2
(A) Churu (B) Ganganagar (A) g% A (B) w771y §
(C) Jaisalmer (D) Bikaner (C) Tareriw A (D) drErie 1
130-8 page 9 of 16 -
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60.

61.

62.

63.

64.

65.

66.

67.

Magarmandi Mata Temple is situated at -

(A) Auwa (B) Kiradu

(€) Nimaj (D) Goth Manglod
Read the following statements in relation to
1857 rebellion in Kota.

(1) The rebellion was lead by Jaidayal and
Mehrab Khan.

. (2) Dr. Sadler and Major Burton were killed by

rebel state Army of Kota.
Choose the correct code -
(A) Both are correct  (B) Only 1
(C) Both are wrong (D) Only 2
Which ruler is called the ‘Hindupat’ in the
history of Rajasthan?
(A) Maharana Kumbha (B) Maharana Rajsingh
(€) Maharaja Raisingh (D) Maharana Sanga
Who among the following has held the post of
Protem Speaker, Speaker and Deputy Speaker
of Rajasthan Legislative Assembly?
(A) Ram Kishore Vyas (B) Dr. C. P. Joshi
(C) samarath Lal . (D) Poonam Chand
Meena Vishnoi
Who was the founder ruler of Kota state?
(A) Kishor Singh (B) Ram Singh
(€) Madho Singh (D) Jagat Singh
Under which Article of the Indian Constitution,
the Rajasthan State Election Commission has
been constituted?
(A) Article 263 (B) Article 243
(©) Article 273 (D) Article 253
Which is the smallest agro climatic zone of
Rajasthan?
(A) Irrigafed north western plain
(B) Semi-arid eastern plain
(C) Flood prone eastern plain
(P) Humid southern plain A
Which of the following is not one of the ‘Panch
Peers’ of Marwar?
(A) Gogaiji
(C) Hadbuiji

" (B) Ramdevji
(D) Tejaji

130-B @

60.

61.

62.

63.

64.

65.

66.

67.
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(B) forxrs,

(A) arsar .

(©) Frret (D) it HTES
m1857ﬁﬁqmﬁ—‘ﬁg$mﬁ
Py w1 Y — .

F faar o "
() FreT # RRE o F A Sh TSR

3N FoR 7é P Em F A A
el e -
(A)aﬁ%wg?’? (B) B 1
(C) S el - (D) Bact 2> .
JrRe @ ghver 3 fvgua 6w A® B
PET oI 87 _
(A) HERTOT F=I (B) HERTUI I8
(©) werroT TaRiE (D) TR WM

frafafag ¥ ¥ fres orgE U w9 @
eH Wer, WieR iR Sl Wier &1 ug
THTeT 27

(A) vm fHoiRk = (B) Sf. <1 61 Wil
(©) wwefara #iom (D) g @ fawEE
PIET XIS BT IE ITHF B 272

(A) freix Rig (B) = ¥

() 7men Riw (D) St Rig

RIS W5 Fates amanT &7 Tew R
S @ e sgadT & el gan?

(A) 3]_:['59_‘\' 263 (B{) 3]3’@7{243

(C) argesE 273 (D) 3= 253

ISR 1 W BYeT $fY Srerary wer e
&7 :

(A) Rife SeR ooy e ‘
(B) arhe=p gdf e ik
(€) 918 vavr gdi de E
(D) o1 SRR dars

o T 2 S @ U9 ORY F 9
(A) TTRTTST (B) g <y

© wsg ® o
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69.

70.

72

N,

75.

phoji lambardar was related to -
* gijoliya Peasant Movement
(B) Bharatpur Peasant Movement

-
(1 2

(C) Marwar Peasant Movement

(D) Begun Peasant Movement

which of the following dialects is not

considered a dialect of Rajasthan?

(B) Malvi

(D) Mewati

The ‘Veer Bharat Sabha' was founded by
s I Kota,

(A) Ahirwati
(C) Bundeli

(B) pPyare Ram
(D) Sadhu Sitaram Das

(A) Savarkar
(C) Kesari Singh
Barhath

The period of south-west monsoon in

Rajasthan is -

(A) June to November (B) June to September

{C) September to (D) May to August
December ’

In which year Mayo College (Educational

Institute) was established in Ajmer?

(A) 1875 AD (B) 1883 AD

(C) 1869 AD (D) 1870 AD

Legislature of Rajasthan State consists of -

(A) Governor and Legislative Assembly

Assembly and Legislative

(B) Legislative
Council
(C) Legislative Assembly only
(0) Governor, Legislative Assembly and

Legislative Council
Nandsa Yup inscription is found at -

{A) Bhilwara (B) Udaipur

(C) Banswara (D) Xota

Which fort amongst the following comes in the
category of "Water fort'?
(A) Taragarh fort (B) Jaigarh fort

(€) Achalgarh fort (D) Bhainsrorgarh fort

69.

70.

[4 "

72.

73.

74.

75.
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Hiofl SRTER @1 e Al —

(A) fasiferar faama sneaa |

(B) srage f=va sald A

(@) swars frur siee 9

(D) 47 faar amEtEA @

Pty 3t A B A e @ arclt
it wER e

(A) aidRard (B) wirEdl

(§) qh (D) #ardh

e # N wwd W @ e L |
Yy oft |

(A) TN (B) XM

(€) dudl firg aeee (D) win] WA am

roren W wftm-af¥an e @ aahy B

4
(A) 1 A TR (B_) o & fyaar

(C) fhiciar 1 fazrar (D) w3 9 arTea

yonr frem am afaw (e d@wm) @
wm (v ad gd?

(A) 1875 ¢ (B) 1883 %
(C) 1869 ¢ (D) 1870 ¢

e oy @ furrisa 8 mta € -
(A) Iremrer iR faem wei v

(8) faur T 3R faum ufig

(C) daa Rurs W~

(D) zrouurd, fast oo SR e aiug

AT gy sfya grn T @ -
Q) =ficarst 1 (B) GauyR #

(C) afrare A (0) whet 3

fefafam 8 @ o g w@ @f & aof
W amen @
(A) arpre it (B) srmre g

(©) sraepre g (D) FwrsTe @t
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77.

78.

79.

80.

81.

. 82,

83.
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The height of which of the following Aravalli
peak is less than 1000 meters? :

(A) Naag Pahar (B) Kumbhalgarh

(C) Raghunathgarh (D) Guru Shikar

Which colors are usually used in Ajrakh print?

(A) Green and White
(C) Blue and Red

(B) Black and White
(D) Pink and Brown

Who is famous as ‘Meera of Vagad'?

(A) Karma bai (B) Kali bai

(C) Pushpa bai (D) Gavari bai

Which among the following (Palace-Place)
pairs is not correctly matched?

(A) Abheda Mahal - Alwar

(B) Pushpak Mahal - Sawai Madhopur
(C) Juna Mahal — Dungarpur
(D) Abli Meeni ka Mahal — Kota

Kinsaria (Nagaur) is famous for the temple of
which Lokdevi?

(A) Chheenk Mata (B) Kodiya Devi
(C) Kewai Mata (D) Jilani Mata -
Wakal, Meshwa and Hathmati are tributaries of

which river?

(A) Western Banas (B) Som

(C) sabarmati (D) Jakham

What was the per capita income of Rajasthan
in 2020-21 at constant (2011-12) price?

(A) 72387 (B) 72297

(C) 70297 (D) 71297

The founder of the Chauhan dynasty of Ja|ore
was - ' .

(A) Vatsaraja Chauhan (B) Kirtipal Chayhan

(€) Kanhadadeva (D) Viramadeva
Chauhan Chauhan

What is the new name of Kolayat Lift Cang)?
(R) Guru Jambheshwar Lift Canal -
(B) Pannalal Barupal Lift Canal

(C) veer Tejaji Lift Canal

(D) Dr. Karni Singh.Lift Canal

N |
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76. fyefaRag § & &9 aRM@el A1 & ey

1000 A1ex & & 27

(A) T TETS m@“ﬁf‘:‘v&

(C) RATITE f028) (D) T RrExT2y

o fie ¥ amER W R @ i
feran wmar 87

(A) g1 AR ABE (B) wTer 3R UBe
ey S aik o . (D) el 3R o

arTe @ Ay d w A I IRig 8

(A) T 4TS (B) wreil a1g

(C) gurr a1$ 1Py ey 4t

frfeafaa & § @9 W (Fga—<IE) g
RATT BY

A apteT HES — oA (BT

(B) ywi TEed — Ware ARG

(©) S W' — YIRYR

(D) sraeht Aroft &1 8@ — Pier

foraRar (AR) fr Aieed @ #Hiw @& frm

ufig 87

(A) S Hrer (B) pifsar 21

(&) darg Jrar (D) fSramof) #ra
Arhe, WY AT s R W 9 waraw
Hfedt €2 )
(A) aRRe geT (B) winy E
(C) HAreRHN (D) e

Rer @rmal (2011-12) W, voRuE 9% ufer
e 2T 2020-21 3 el off?

(A) 72387 (B) 72297

(C) 70297 (D) 71297

TER @ A 99 & HARIus o —

(A) gt diem (B) iffure dem
©) Breged digM, (D) drwda dEE
P fIve T8R &7 7131 Ay 27
(A) T STRIRR five T -

(B) TTelTel IUTer forge Hev
(C) ER oSl forve v
) St vl Rig Rige ey
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86.
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89.
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‘Mukam’” is famous for -
(A) Ramsnehis
(C) Kabirpanthis

(B) Jasnathis
(D) Bishnois
On which part of female body is Timaniya
ornament worn?

(A) Ears (B) Ankle

(C) Neck (D) Hand

Who is the author of the book ‘Buddhi Vilas’?
(A) Somendra (B) Rafshekhar

(D) Bakhatram Sah

In which of the following districts, tropical dr
deciduous forests are not found?

(A} Sirohi - © (B) Alwar

(C) Dholpur (D) Bharatpur
The only goddess of Rajasthan whose broken
idol is worshipped -

(A) Nagnechi Mata (B) Chamunda Mata
(C) Sheetala Mata (D) Shila Mata

Match List — 1 with List =1l and select the correc

47

(C) Hemchandra Suri

213443

it

1

answer —
List=1 List-Ii
(wildlife Protected Area) (District)

(a) Jodbeed Gadhwala (1) Jhunjhunu

(b) Guda Vishnoiyan (2) Nagaur

(c) Gogelav (3) Jodhpur
(d) Beed

(R) 3-4, b-3, c-2, d-1

(4) Bikaner
(B) a-1,b-2,¢-3,d-4

(©) a-1,b-3, c-4,d-2  (0) a-4,b-3,¢L, d-2

Which of the following statement is not tru

with respect to'Saint Dadu? %
nthi sect ar

(A) satsang places of Dadu Pa =

called “Alakh Dariba”. bha‘f—
(B) His teachings are collected in “An

143347

Vani”. ,
() He is known as “Kabir of Rajasthan”.
() He was a poet saint from Gujarat.

1302144347 1302144347

85.

86.

88.

89.

90.

91.

page 13 of 16

e ARG § —

(A) wrfREl @ R (B) sraeiorl @ fer
(€) wdufmt & forg (D)fﬁ?:ﬂ'&‘ﬁ?f\»ﬁﬂ’
formforan Wﬁamwiﬁﬁ'ﬂﬂmﬁ
TETC 87

(A) BH (B) T

(Sy o (D) 811
qr—fer 7o & o gH B 27

(A) A= (B) RIoTIIRER

(C) A= T (D) qEaR™ 8

e ¥ ¥ fru R g Swiefed™

(A) RRET (B) 3reTaR
(C) dragR (D) RAR
WWW”ﬁWWH%ﬁﬁWﬁEﬁﬁﬁﬁéﬁ
T B A 8 —

(A) TTorT AT (B) TrqusT A1

(C) <frcrer A (D) fBrem e
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TR BT TTT PN —

- . -1l
(ool wefee &) (frem)
(a) SrSdrs e . (1) €L
(b) T ' (2) iR
(c) TIretTa (3) FER
(&) drs () dFTR

(A) a-4,b-3,c2,d1 (B a1, b2, c3,d»

(€) a-1,b-3,c-4,d-2» a-4,b-3, c-1,d-2

W ag @ wed ¥ frefafad § A e

PAT A T 27

(A) 3g. HyeTE & FET XU e T
FEART B |

(B) o wew “aronaml” ¥ wWufew ¥

(€) 3= "Jroree & AN W FET A€ ¥ |

(D) ¥ ToRME & tE B Fa A
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The Rajastham folk song ‘Pavana’ is SUDR by
females -

{A) on birth of son

(B) on arrival of new son-in-law

{€) while waiting for marriage

(D) while working in the fields in chaitra month
How many military cantonments were there in
Rajasthan at the time of Revolt of 18577

{A) 7 (B) 6

(D) 4

Which one of the following pairs is not correct
regarding the folk dance of Rajasthan and its

area of practice?

(C) 5

(A) Bamarsia Dance - Bikaner
(B) Gindar Dance - Shekhawati
(C) Dandiya Dance - Marwar
(D) Dhol Dance - Jalore

Chief Secretary of Rajasthan State is selected
by -

(A) Cabinet

(B) Chief Justice of High Court

(C) Chief Minister

(D) speaker of the Legislative Assembly

Who is called the Deity of ‘Kala and Bala’?

(A) Biggaji (B) Pabuji

(C) Kallaji (D) Temji

Which of the following statement is not true

with respect to Kalibanga?

(A) It is in Hanumangarh district,

(B) C-vrhrallbn of Kalibanga was spread on the
banks of Ahad river

{C) it is an urban civilization

(D) Here the remains of Harappan and pre -
Harappan civilization have been found

from the excavation work

92,

93.

94,

97.
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. Which Pair is not correctly matched with  98. <o @ T@dHAT VAR Td ST Hrerd
* respect to the freedom fighter of Rajasthan and (To0) & W ¥ @5 I ;jefﬁﬁ T3 27
his place of work (State)? (A) BRI TRA — AR )
(A) Hiralal Shastri - Jaipur . FE
(B) Balmukund Bissa — Jodhpur = (B) arer g el — Sy
(C) Raghuvar Dayal Goyal - Bikaner (C) R TuTel et — IR
(D) Gopilal Yadav Alwar 4B) e Fred — ST
. Which of the fQ"meg (Fort — Popular Name) 9. frfifad § 4 wFwE (g — @wHE )
is not correctly matched?
: hfera T8 7
(A) Mehrangarh fort (Jodhpur) — Mayurdhwaj )
Garh ‘ (A) WexrTe g (SR) — AgReAs e
(B) Nahargarh fort (Jaipur) — Sudershangarh - (B) A& gif (GWEF)-' gaeiTTe
(C) Bhatner  fort  (Hanumangarh) - m it (FAETe) — BIgge
Koshvardhan ot
(D) Taragarh fort (Ajmer)—Gérh Bithali o). TT -
100. The Battle of Harmada (1557 AD) was fought - 100. &<t g (1557 §) o7 T AT ~
_ ________,__\
(A) Between Maharana Sanga and Mughal (A) TERIO Wi T T WS AR & T 2
Emperor Babur
(B) Between Maharana Udai Slngh and Haji (B) #ERTOT aaitie Td EMoil wf & wea
Khan
(C) HERTOT SEIRE Td aTER B HEA +
(C) Between Maharana Udai Singh and ) v
Banveer (0) war¢ STaRiE vd et & ' o>
(D) Between Sawai Jai Singh and Marathas
130-B @ Page 15 of 16
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